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Instructions for Candidates:
i Write your Roll no. on the top immediately on receipt of this question paper.

i. Attempt any five questions
i All questions carry equal marks.
iv. Answers may be written either English or Hindi but the same language should be
used throughout.
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1. Explain the importance of avoiding double counting in the estimation of domestic
product. How is it avoided? Explain with illustration.
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2.(a) Define the concept of autonomous expenditure multiplier and derive the expression for
autonomous government expenditure multiplier.

(b) Let the consumption function be given by C =800+ 0.6Y4, T= 100, I =100, G=200,
where T is tax, Iis investment, G is government expenditure and Yy is disposable income in

Rs crores. (i) What is the equilibrium income? (ii) If G increases by Rs 100 crore, by how
much the new equilibrium output would change? (7.5,7.5 )
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3. (a). Discuss the impact of the following changes on the equilibrium rate of interest:
1. Change in money supply

it. Change in income level



iii. Change in price level
(b). Explain the “Quantity Theory of Money”? (7.5,17.5)

4. Explain the process of credit creation by commercial banks. What are the limits to their
capacity for credit creation? (15)
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5.(a). Explain the Balance of Payments Account of a country with its various sub-accounts. In
what sense balance of payments account is considered to be always in balance?

(b). ““If autonomous saving increases the output level decreases but absolute amount of saving in
the economy remains the same”—explain. (7.5, 7.5)
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6. (a) ** In an open economy, an increase in the marginal propensity to import reduces the
multiplier  effect of a change in autonomous expenditure”. Demonstrate.

(b)Find the value of investment multiplier when, C=30+ 0.80 Yy, =50,1=60, G=50 and
NX=50-0.05Y ; where C- consumption, T-tax, I- private investment, G-government
expenditure and NX- net exports; all in Rs crores. What will be the value of investment
multiplier when only net export function changes to NX= 50-0.20Y? (7.5, 7.5 )
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7 (a). In a three sector (C+I+G) model of income determination, when a decrease in government
transfers is matched by an equal amount of increase in government expenditure, equilibrium
output (i) increases (ii) decreases (iii) or remains the same?

(b)Let consumption C= 20+ 0.8Y4, tax T= 40, Transfer T,=

=10, government expenditure G=30
and private investment =60. What is equilibrium output? If G increases by 10 and T, decreases

by an equal amount, how much is the change in equilibrium level of output? (7.5,7.5)
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8. Write short notes on any two of the following:
a. potential GDP ]

b. balanced budget multiplier

¢. determinants of demand for money (7.5,17.5)
freferien & @ fr=dt < w wfera fewfrt fofaw:

(31) HATE HPhe B SIS



	001
	002
	003

